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Note: This question paper contains two parts A and B'
part A is compuisory which carries 25 marks. Answer all questions in Part A' Part B

consists of 5 Units. Answerany one firll questiorr fiom each unit. Each question carries

l0'marks and may ttatre a, b, c as sub ques{ions'

PART - A
(25 Marks)

1.a) Define poiymorphisrn' {2}

bi Why is byte code of'Java is known as rnagicai ccidcll t3l
,') Wiiat is an inner class? L2]

d; Dif,l'efg-ntiate between ,intqrf-ace and abstraot class' : [3J':' ' e) List checked excepxions o'f Java' 121

f) How to create a thread'? t3]

g) What is a ResultSet? 12)

[i How is a vector iJifferent from an array? 13]

ii Why swing components are light weight? t21

ii civl awr hierarchy and swing hiererrchy" t3l

PART - B
(50 Marks)

Z. Make a comparison of procedure oriented programt'ning and object oriented

prograrnming" [lo]
OR

- 3.a) How does Java support type casting?

b) Demonstrate the use of :this' keyword' [5+5J

Describe different forms of inheritance. Write a program to implement multip{e

inheritadte. [10]
OR

What is meanr by dynarric binding? Explain dynatnic rnethod dispatch.

Describe the need o.f pacL<age creation in J.ava'

What ii an exception? What are tho benefits of exception handling? Explain

keywords of Java important fbr exception handling.

4.

5.a)

b)

6.

Is+5]

the five

ll 0l

7,a)
b)

OR
Differentiate betw'een process ancl thread'

Write a prograltl tc solve producer-collsulrer problem using inter-thread

[5+5]comrnunication.



.i-,-a. 
.'"""

S.WriteaJavaprograrntoappenclsecondfilecontenttofirstflle'readtrvofilenamesaSIi 0]

command line arguments'
OR

[5+5],

prosram * n"if;l
'9.a) Describe thc four types oI lata:a:e 

drivers ol JDBC'

b) Describe tht ;;;;ilni 'n"tt.'oos 
of StringTokeniz-er class'

10. What is an event? Describe delegation event model and write a

mouse events'
OR

11. Compare applets with apptication programs'

,ppri life cYlcle'

With suitabte progratn scgtnents t-Tftti
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